8.2 Warm-Up
Solve for each variable.
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8.2 The Pythagorean Theoremand Its Converse

. Pythagorean Theorem
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Determine whether each set of numhem can be the measuzres of the
 sides of a triangle. If 50, clasmfy the tnangle as. actie, vight, ot obtusc.

Justify your answer.
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8-2 Practice .
The Pythagorean Theorem and Its Converse

Find x. ' : |
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Deterinine whether éach'set of numbers can "é"asure ‘o the s1des of a triangle. If so, ifyther—"
triangle as acute, obtuse or right, Justify your answer. _ :
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11. CONSTRUCTION The bottom end of a; rampata
warchouse is 10 feet from the base of the main dock and is
11 feet long. How high is the dock? '
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